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Bestimme das kleinste gemeinsame Vielfache und trage die Ergebnisse in das Kreuzzahlrätsel ein.
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[bookmark: _GoBack]Waagerecht:				Senkrecht:
 1) kgV ( 25 , 50 ) = 50		 1) kgV ( 55 ,110 ) = 55
 2) kgV ( 5 , 7 )   = 35		 2) kgV ( 3 , 13 )  = 39
 3) kgV ( 12 , 20 ) = 60		 3) kgV ( 5 , 13 )  = 65
 4) kgV ( 11 , 99 ) = 99		 4) kgV ( 2 , 45 )  = 90
 5) kgV ( 5 , 9 )   = 45		 5) kgV ( 4 , 11 )  = 44
 6) kgV ( 5 , 6 )   = 30		 6) kgV ( 16 , 32 ) = 32
 7) kgV ( 7 , 12 )  = 84		 7) kgV ( 8 , 22 )  = 88
 8) kgV ( 1 , 2 )   = 2		 8) kgV ( 4 , 5 )   = 20
 9) kgV ( 6 , 7 )   = 42		 9) kgV ( 2 , 23 )  = 46
10) kgV ( 2 , 29 )  = 58		10) kgV ( 3 ,17 )   = 51
11) kgV ( 5 , 16 )  = 80		11) kgV ( 2 , 41 )  = 82
12) kgV ( 7 , 3 )   = 21		12) kgV ( 2, 11 )   = 22
13) kgV ( 8 , 9  )  = 72		13) kgV ( 3 , 25 )  = 75
14) kgV ( 4 , 23 )  = 92
15) kgV ( 3 , 25 )  = 75
16) kgV ( 3 , 9 )   = 9
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